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O000000 deMoivreeOJ OO OOOO

53 10n00 0, 00000 1/n0

O0nrneNDOOD

z'"-1=0

OO0000D0000zO010n0O0 (nthroots) DOODOODOOO0O0D w,00
00000000000 0OdeMoivreJ 0000 w, O

W, = exp (2771 \/—_1) (5.10)

000000 =10}, .,0"'00010#,000000
000r=300005100000Gauss0000 30

wy = 1
2m \/—
w3 = exp (? —1)
w; = exp (4?7-[ \/—_1)
wy = exp(%z V—_l):wgzl

gooo

54 OU0OO0OOO0OOO0OOO

101/»00000000000c=rexp(0Vv-1)00000 1/n000000O
OO0o0obobooo0or0b0001/mO0b0O0601/mO00O

GVZ)

riim exp(



36 050 0O0000EulerdO0OdeMoivreOOOODOOOO 1/n0

051:10300000:0) =1, w0}, wj

Ooooooooooooboen +2n/n, +2-2n/n, ..., +n-1)-2n/n000000
OcO1l/n000000000cO1/~0O0O0

(6 + 27k) V-1
n

An exp( J (k=0,2,..,n-1)

gooo
O0000r=200005200000000 RUDODD000000)0DOOO

052.00001/20000000 oo



54. 0O0O0OODOOOOO 37

OOo00O0o0DOOoO0DOoOO0oOoOobOboOobooOobO1Y/s0OO00D00O0ODOODOO
obooboboooo2000x#n00000000O000DO0ODOODOO

000000000 GaussOOOOOOOOOO((@S3)0O0O00OO0O0DODO
gboboboooooboooobbbooogn

Im

R Q‘J ke
-7t

053000000

gobbobbbougooobbobbbodooooobboobboooooon
gbobbbbboogogobbobbouoogbobobbboooooobbon
gobboobbuodgoogobbobboooooobboboooooon
OO0 ({@s5200000000000)000D00O00DOOO0OOOODDOODO
O0C++000000000000sqrt00 (P23) 0000000000000
000000000000000000zO0000000 zO

Re(Vz) >0 (5.11)
D0000000D000000D0D00000:zeROODDODOOOODODOO
£z

OOobo0o0b0obdbzeCOODO20000z0000D000O0D0ODOO0ODO
goobogd



38 050 0O0000EulerdO0OdeMoivreOOOODOOOO 1/n0

55 O00O0Ooon

gobbbbbuooogobbbbbodooooobobbobobboooooan
gobobooggoboo

exp(z) = exp(Re(z)) - (cos(Im(z)) + V=1 sin(Im(z))) (5.12)
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